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3[ 415583 #F B g = 1 (WdbHs £ &) 12.59
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(1148 ¢ -2.1 m)
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40 8] 921w e m2 Gr B )14.44
5[ 4] 9078 1" w3 (Fn 3% = th)14.45
6 7] 814 ' m'ds 22 (19 W& ) 14.48
T06] 270 4 a1 (1 & v $1)14.70
8[ 1] 802 k" £ w2 (= % # H1)14.97

(46%8] (  -1.2 m)
1[0 2] 183/ 1 g2 (ZHHEALH)13. 36
2041 7132 %" |~ w2 GfdeHEr £)13.57
3031 7313 W~ /2 (kA Erh)13.78
AL 6] 25642 m migr 1 (£ JB 75 ) 14.52
5[ 51 526 1 fF e 4o 2 (LKA H) 14,65
61 71 15250 3w 2 (&t RA9)14.73
(11107 T gm 2 GBI )R
[ 8] 290 4" e gt 2 (W @5 . th) kiB

[48%8] ( -1.5 m)

102 47105% g a2 (F R F)14.69
2[ 5] 296 JiHf E"fr 2 (8] B3 — 1) 14.92
30 8] 464 53 #m 3 (F R 1538
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